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LOGIC AND PHILOSOPHY
( Theory )

Full Marks : 100
Pass Marks : 30

Time : 3 hours

The figures in the margin indicate full marks for the questions

ALLOTMENT OF MARKS
Q. No. 1 carries 1 mark each : 1x12 = 12
Q. Nos. 2-13 carry 2 marks each : 2x12 = 24
Q. Nos. 14-23 carry 4 marks each : 4x10 = 40
Q. Nos. 24-27 carry 6 marks each : 6x4 = 24
Total = 100
[ Contd.

/132



(2)

1. Answer the following as directed : 1x12=12

weTS frRIeR RetpiiR Ses fim

(a) Logic is a science.

( Fill in the blank )
SR 2’ bl Rem |

(el 3% o/ w41 )

(b) Universal negative proposition is represented by the
symbol .

( Fill in the blank )
RS BT 7T ARCFSF Bec oFm 331 27 |

(1@ 37 o 4 )

(c) Give an example of one-predicate general proposition.

3 Reswye MeRa o @b e fmn |

(d) What is the name of the subject of the conclusion of
a syllogism?

TS PrErea Sove sicsR W 2
(e) In a categorical syllogism from two particular propositions /
universal propositions no conclusion can be drawn.

( Choose the correct answer )

D1 ForereP SRS Y51 Rem I5 / A 5 o1 B cotm sy |
(o TaH! A Bhereqy )
(f) FERIO is a valid mood of the First / Second / Thirg Figure,

( Choose the correct answer )

FERIO 297 / 7281 / 9O 7ierR (34 3f |
(@ﬁmqﬁw@@)
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(g) Every logical connective connects only propositions.
( Fill in the blank )

PSR TR TRCAEIR (P e TR
(i B2 o 40 )
(h) What is the derivative meaning of the word ‘Philosophy’?
“Philosophy’ *FCB gerifasrs =Y =2
(i) The founder of Yoga philosophy is___ .
( Fill in the blank )

i) e afodrel (20” |
(4 o 7 )

(i) ‘‘Monads are windowless.”” Who said this statement?
e (E TR ARFRER 7 @ TRl (I
(iRl 7

(k) In Indian philosophy, valid knowledge is known as
( Fill in the blank )

e wiTe 1Y TP et 2 |
B EERGEAD
() The different types of Idealism arc Idealism,

Idealism and Phenomenalistic Idealism.

( Fill in the blanks )
S (e eFEeTR 2 __ ©RAm, SEEIERCI
e SR |

(e SRR R )

5. State tWO points of difference between traditional logic and

symbolic logic. 1+1=2

Wq@wﬁ@ﬂwﬁmw&@mw@mwwﬂwx
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3. Classify proposition according to quantity.

o1 PR o9 ARSI 4 |

4. Write two points of difference between sentence and proposition.
1+1=2

A AF 6T TS KB1 N 4 o

5. Define conjunctive proposition with example. 2

TURI99 (3TCe A /AR e |

6. Write two points of difference between Deductive and Inductive

Inference. 1+1=2

fRorse ST SqIsIS W qo1 “N1¥e s |

7. State two rules of conversion. 1+1=2

STRNS 451 TR a9

8. Write the names of two valid moods of the Second Figure. 1+1=2

8 scgmT o1 (34 YT A fora o

9. Symbolize the following propositions : 1+1=2

w57 Tl IACRRD ADTIRS FoMS PP 1

(a) It is false that the grass is not green.

3751 g (@ SizaR EIoa = |

(b) Either I will go to library or attend the seminar.

= W2 <RSI T AL AT TS e |
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10. Write the names of two Vedic schools. 1+1=2
oI Cafvsp STeemrd w1 o1 |
11. Give two criticisms of Innate Ideas. 1+1=2

SRFET© 199 G5! SN e |

12. Which of the following statements are true? 1+1=2
O (PIPL0! Of & 37 2
(a) (i) ‘“‘Descartes, Locke, Berkeley and Hume are rationalistic
philosopher.”

“TRID, I, A oI 2Ty gimam wpeffer 17
(ii) ‘‘Descartes, Spinoza, Leibniz and Wolf are rationalistic

philosopher.”
“cols, Pricen, e s e gfmat w17

(b) (i) ‘“‘Logic is concerned with mediate knowledge, not with
immediate knowledge.”’

“SHR@ 2[R WEE F90 Tve, orF ®’wq 55 7923 |1

(ii) ‘‘Logic is concerned with immediate knowledge, not
with mediate knowledge.”

AT 2O WY TS Tve, 2ErT e e 72y 1

13. State any two points of difference between Realism and Idealism.

[+1=2
AT ST SR e I o1 N1 BeE 4 |
14. Explain the four-fold scheme of proposition. 4
A5 DL o il F1 |
/132 | Contd.



(6)

15. Reduce the following sentences into logical form : 24+2=4

T PR SHREPTIS 50 FeReT 1 -

(a) All that glitters is not gold.
SFCEl TR IB G 1= |

(b) Only intelligent students can pass the examination.

(e EH RAANTCR G e T8 27 A |

16. Explain the figure of a syllogism. 4
IR SR I P90

17. Distinguish between subject-predicate proposition and class-
membership proposition.

S-S 65 W QA -T0Tre] 51 Tere AN o7 1 |

18. Reduce any one of the following syllogistic arguments into logical
form and test its validity :
PR T S R @I @O SRS 918 +ARe 741 wRe
TR (el Ao 0

(a) Aristotle was a great logician, since he was a phllOSOpher and
all great logicians are philosophers.

BB o Oleq SR A PR (96 e e e e
C led SRR T |

(b) No kings are poor, but all kings are men, so no men are
poor.
@I To R W, R R @ AR, M @ g
eUCE
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19.

20.

21.

22.

23.

24.
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What is truth function? Explain implicative function by giving
a truth table for it. 242=4

FOJ-FoH FIE QAN ? T Sfeppiz RO 1 Ieorfyee v s
01

Distinguish between Science and Philosophy. 4

Rem ole ™iqq Irere o1 T 11 1

Write a short note on Epistemology. 4

BRI I S-TATR @i 961 55 Gt e |

Write four characteristics of Empiricism. 4

wfSererme S (g e |

Write short notes on : 2+2=4
12 Corpl o
(a) Svarthanumina
KRG
(b) Pararthanumana

*RIAA

What is a compound proposition? Define each of the different
forms of compound proposition with examples. 2+4=6

Qe o7 IR Q@0 7 (AP o RfSw e S Gice ke
fam |

Or /&
Define middle term. Discuss its function in categorical syllogism.
2+4=6
cagerd ke Tl | FACer SRS RS i e 4 |
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25. Define syllogism. Describe the characteristics of syllogism. 2+4=6
TR e | R ISP I 0
Or /T
Discuss Rationalism as a theory of the origin of knowledge. 6

W SeeAfS PR Toqmm o M SGeB! SCeAAl ¥ |

26. Discuss the characteristics of symbolic logic. 6
SO SFREY (IMEPTIR S 1 |
Or /71%1

Construct truth tables for any two of the following propositional

forms and find out whether it is tautologous, contradictory or

contingent : 3+3=6

TS Tl IS ARPTE [ R @A PR T SR oo I =
RO ToTe, TR (7 SRFE TR R 1 :

(i) ~pvq
(ii) po(p-q)
(iii) ~ (p-q)

27. Explain any three characteristics of Indian philosophy. 2x3=6
R AT R e fofbr cafizs s 1
Or /AT
How many Pramanas are accepted in Indian philosophy? Discuss
Pratyaksa as a form of Pramana. 1+5=6

SR TS (FRD AN AT T (F(R? AR @bl &4FR BeRel ererwy
Ry Sl 391

* %k
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